
 

 لولي كرزة 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

  

  

 الدوال الجبرية

 دالة المقياس ) القيمة المطلقة ( -2
 (∞-,∞) Rالمجال : 

.∞)+𝑅المدى :  −∞) 

F(x)= I x-4 I 

 

I9  –+ 5x  2x)= I x(F 

 

F(x)= 𝐼 √𝑥 + 5 𝐼 

5.2 



 

 لولي كرزة 

 

 الكسرية:دالة  -2
 المجال :

 نساوي المقام بصفر.

𝑓(𝑥) =
𝑥

1
2 − 3

𝑥 + 1
 

 

𝑓(𝑥) =
𝑥2 + 5

2𝑥 + 3
 

 

𝑓(𝑥) =
|𝑋 + 1|
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 :جذريةالدالة ال -2
 مجال الجذر الفردي:

R (-∞, ∞) 

𝑓(𝑥) = ඥ𝑥2 + 𝑥 − 4 

 

𝑓|𝑥1 = √𝑥 + 𝑥−1 

 

𝑓(𝑥) = ඥ𝑥−3 + 4𝑥 


